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It is not a Get, if he died — W3 INRT R DR

OVERVIEW

The X713 initially wanted to say that X237 derived his ruling (of 1Pv°32 01X 7°X) from
the mwn, which states that if one gave a vi, with the provision that it should take
effect if he does not return within twelve months, and he died within that time; it is
not a v). The X3 explains the inference; it is not a v3 if he died (within the twelve
months), however if he became ill within the twelve months and did not return
because of the illness, it is a valid v3; proving that v»32 onx PX. Our MooIN
explains how this is inferred! from that 7awn.

mooIn explains; it is not a v if he died within the twelve months -
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Since a v» cannot be effective after the death of the husband; however if the
husband became ill, and he is still alive after the twelve months it is a valid wa;
proving that 112 01X PX -
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For if we will maintain that by 57917 it is also not a ©s (like by n»n) and the reason

here why it is not a v (by 771 and by n») is because it is an 21N -
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If indeed it is so, the mwn should have taught us this 17 of 1’02 01X by 791
which is a minimal o238 (and nevertheless it prevents the vx from becoming

effective), and we would certainly know that if he died which is a major onx, the va
will not be effective —

mooIN responds to an anticipated difficulty:’

! Seemingly if by 797 it is a 0, since PV IR PR, then by nn it should also be a va (and she should not be AP
02*9), since he did not return within the allotted time, and 1°0%32 DR K.
2 We assume that the 03 was to become effective when the husband did not return after twelve months. At that point
the husband had already died, and cannot issue a va.
3 We will now assume that when he said w717 2" 7v1 3827 121 70°3 777, he meant that the v3 should become effective
retroactively from the day he gave it, so there is no concern of 7n°» InR> v, and the reason the va is not effective is
because his not returning was an 01X (and P32 01X ) and it applies equally to 777 and to nn.
4 However since the mawn did not state its case by 197, but rather by nn, this indicates that the v3 is not effective only
on account of 7N TNXY V3 1K, but not because of IR, since PY*32 OIX 1°X. See ‘Thinking it over’# 1.
5 Perhaps the reason why it is not a 03 is because P32 01X w* (see footnote # 3), and the reason he did not mention
79n, is because if the 7awn would just state that by 7%m it is not a v (because "v°32 01X ©°), I would not be able to
derive that by nn it is not a 03, because by nn (as opposed to 7771) he wants the 03 to become effective (retroactively)
so she will not have to go through the 012’ process (which does not apply to 77m).
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For as of now it did not as of yet enter the mind of the X713 the idea that by n»
it is possible to say that he prefers that the vx be effective, in order that she

should not endure the 212 process. Therefore there is no other reason why it should not be
a vx by nn if it is not a va by 771 (on account of Pv*32 DX V).

SUMMARY
It is not a vx by n» because 11N°1 INR? VX PR, At this point the X% was unaware of
the idea that 02’ "np 2190 K27 9% R2.

THINKING IT OVER
1. Seemingly almost the entire MdoIn (until 121 *NOR XNWAT) is a repetition of
""w19;” why is MO0IN repeating it?

2. It seems according to mson that the only way we can infer from this 71wn that
TL22 O TR is if we assume that 121 PRVTR POR X7 ®Xnwi7.8 However, why cannot
we say that it was 7o nYIX P°OX that 121 % X1, and nevertheless we can derive from
this 71wn that 2 01X X, for otherwise (if Y32 01X ¥°) why does not the mwn
mention that it is not a v by 17717 as well. We cannot derive 1717 from nn, for even if
we are discussing a case of Pwayn (where there is no problem of i TnR? VA PX), |
would think that only by nn it is not a v3, because it is an 713 01X, but not by 777
which is an vy 01X, We certainly cannot derive 1771 from n» if we are discussing
where the va is 11 after wnin 2v, for then by nn it is no V) because M TMR? VI PX.
In short we can know that 1P¥32 01X X, because if w32 01 v, the m1wn should
have taught us the 1°7 that by 17711 it is not a va!

¢ This idea is first entertained later on this 7wy, but not as of yet. See ‘Thinking it over’ # 2.
7 See 'am 'R nn "7 v
8 See footnote # 6.
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